BN 6 FEFEFT5AlI B Bk kRS

2 BERJINAAL 277 F 4 (50m) 1/2
HA 20245841 (H)
No.1 ;B& 4x50m FEik=EFY L— B A LL— R R
L INEEDE >
F—L4 K& B
1 GifuW 1/ 1 3:33.95
49.70 1:41.36 2:38.07
1 Bk /N3 (0.77) 49. 70
2 TH K /N5 (0. 32) 51. 66
3 HH BiL /N3 (0. 46) 56. 71
4 TH HEH /N2 (+0. 52) 55. 88
No.1 B& 4x50m Ek=F1 L— B4 LL—RREE
£ FEEDE >
F—L4 K& B
1 AEHEH 1/ 2 3:05. 45
41.97 59.99 2:24.19
1 @5 il 2 (0.80) 41.97
2 ik & 3 (+0.80) 18.02
3 1%iE ET 3 (- ) 1:24.20
4 R R 3 (+0.20) 41. 26
No.1 ;B& 4x50m FExEY L— A LL—R R
K EREDE >
1 ST B pE A 1/ 8 2:16.57
40.75 1:06.07 1:41.19
1 AH 8k =2 ( ) 40. 75
2 KRB BE =2 (——— ) 25.32
3 HH ek &=l (- ) 35. 12
4 FEJR H =3 35. 38
2 I B AR 1/ 3 2:28.35
31.50 1:09.01 1:49.45
1 EERIT A w2 (0.6 31.50
2 fER S w2 (+0.28) 37.51
3 #HH IKIE w2 (+0.52) 40. 44
4 T Fil o (+0.30) 38.90
3 ST BpgEEC 1/ 6 2:40.63
41.47 1:21.01 1:59.34
1 g e w3 (0.66) 41. 47
2 BEE Kx =3 (+0.47) 39. 54
3 ERE fkHE = (+0. 31) 38.33
4 Ak zh ml o (+0.16) 41. 29
4 VRSTIR FLpH 4B 1/ 7 2:40.84
38.95 1:14.39 1:54.68
1 @\ B& =2 (0.67) 38.95
2 du)l EE w3 (+0.38) 35. 44
3 WY WA = (+0. 52) 40. 29
4w g w3 (+0.33) 46. 16
5 REMA 1/ 5 2:41.31
36.10 1:31.23 2:07.36
1 &l #3FF ml (0.64) 36. 10
2 g NE ml (+0.64) 55.13
3 WK TREA = (+0. 06) 36. 13
4 KZFE BA w1 (+0.53) 33.95
HAO BB :  8H4H 11:46
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No.1 ;B& 4x50m Ex=FY L— B A L L—RRE
£ BREDE >
F—L% K& =
6 EREEB 1/ 4 2:42.67
36.72 1:31.66 2:09.54
1 #& EL F=a (0.70) 36.72
2 K AL f=a (+0. 53) 54. 94
3 Bk fwmE =l (+0.57) 37. 88
4 ERE BHAE =N (+0. 52) 33.13

No.1 ;B& 4x50m FExFY L— R AL L—R R
L —fEDE >
F—L4 K& B
1 I B 1/ 9 2:3527
42.93 1:15.62 2:01.87
1 E#E mET w3 ( ) 42.93
2 AR W& (———- ) 32. 69
3 I OHkIE &3 (—— ) 46. 25
4 kI FHE =8| 33. 40

Hi ) B IR

8SH4H 11:46



